RESOLUTION

November 19, 2025

WHEREAS, on September 30, 2025, pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of ASPHALT MATERIALS for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

A. E. Stone, Inc. 1435 Doughty Road Egg Harbor Twp., NJ 08234 (609) 641-2781

Stavola Asphalt Company, LLC. 175 Drift Road Tinton Falls, NJ 07724 (732) 542-2328 Name and Address of Bidder

Brick Wall Corporation 25 First Avenue Atlantic Highlands, NJ 07716 (732) 291-8100

The Walter R. Earle Corporation 1800 Route 34, Building 2, Suite 205 Wall, NJ 07719 (732) 308-1113

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bids, according to specifications, in each instance, be accepted, namely, A. E. STONE, INC.; BRICK WALL CORP; STAVOLA ASPHALT COMPANY, LLC; and THE WALTER R. EARLE CORPORATION.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts, for the furnishing and delivery of Asphalt Materials for the County of Ocean, for the contract period of One (1) year, from December 4, 2025 through December 3, 2026, or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.

A. <u>A.E. STONE, INC</u>. for seven (7) items to wit:

ITEM NOS. 1, 2, 3, 4, 5, 6 and 7.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

B. BRICK WALL CORPORATION for six (6) items to wit:

ITEM NOS. 1, 2, 3, 4, 5 and 6.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

C. <u>STAVOLA ASPHALT COMPANY, LLC</u> for six (6) items to wit:

FITEM NOS. 1, 2, 4, 5, 6 and 7.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

D. <u>THE WALTER R. EARLE CORPORATION</u> for seven (7) items to wit: ITEM NOS. 1, 2, 3, 4, 5, 6 and 7.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

- 2. Pursuant to N.J.A.C. 5:30-5.4, the County has established a reasonable estimated maximum dollar value of \$3,750,000.00 for the term of this contract, based on historical procurement data for comparable goods or services. The County further reserves the right to increase quantities by up to twenty percent (20%) of the maximum awarded amount at the unit prices bid, in accordance with N.J.A.C. 5:30-11.3.
- 3. Funds for the materials or services described herein shall be made available through operating and expense (O&E) accounts, trust accounts, grant accounts, or capital accounts maintained by, but not limited to, the following departments: Road Department.
- 4. Payments for the materials to be acquired by these contracts shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2025-163.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Purchasing Department, Finance Department, Road Department and the successful bidders.

PRICE TABLES

ASPHALT MATERIALS

	Line Iten	n	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:
И	1		Hot Mix Asphalt 19M64 Base Course	3,000	TON	\$61.55	\$184,650.00		
·	2		Hot Mix Asphalt 9.5M64 Surface Course	45,000	TON	\$68.70	\$3,091,500.00		
Ч	3		Hot Mix Asphalt 4.75M64 Surface Course	500	TON	\$76.00	\$38,000.00		
V	4		Hot Mix Asphalt 12.5M64 Surface Course	20,000	TON	\$66.25	\$1,325,000.00		
4	5		Open Graded Friction Course	4,000	TON	\$85.00	\$340,000.00		
	/ 6		Asphalt Price Adjustment (this item will be awarded to all vendors awarded Item #'s 1, 2, 3, 4 and/or 5)	1	LS	\$300,000.00	\$300,000.00		
V	7		High Performance Patch	2,000	TON	\$185.00	\$370,000.00		

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES ASPHALT MATERIALS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:
	1 .	Hot Mix Asphalt 19M64 Base Course	3,000	· TON	\$74.00	\$222,000.00	· ·	
	2	Hot Mix Asphalt 9.5M64 Surface Course	45,000	TON	\$77.00	\$3,465,000.00		
	3	Hot Mix Asphalt 4.75M64 Surface Course	500	TON	\$109.00	\$54,500.00		
	4	Hot Mix Asphalt 12.5M64 Surface Course	20,000	TON	\$76.00	\$1,520,000.00		
	S	Open Graded Friction Course	4,000	TON	\$105.00	\$420,000.00		
Y	6	Asphalt Price Adjustment (this item will be awarded to all vendors awarded item #'s 1, 2, 3, 4 and/or 5)	1	. LS	\$300,000.00	\$300,000.00		
	7	High Performance Patch		TON	No Bid	No Bid	X	

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES

ASPHALT MATERIALS

	ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:
i	. 1	Hot Mix Asphalt 19M64 Base Course	3,000	TON	\$72.00	\$216,000.00	<u> </u>	-
4	2	Hot Mix Asphalt 9.5M64 Surface Course	45,000	TON	\$74.00	\$3,330,000.00		
	3	Hot Mix Asphalt 4.75M64 Surface Course		TON	No Bid	No Bid	Х	
	4	Hot Mix Asphalt 12.5M64 Surface Course	20,000	TON	\$74.00	\$1,480,000.00		
V	5	Open Graded Friction Course	4,000	TON	\$114.00	\$456,000.00		
V	6 .	Asphalt Price Adjustment (this item will be awarded to all vendors awarded Item #'s 1, 2, 3, 4 and/or 5)	1	LS	\$300,000.00	\$300,000.00	<u> </u>	
	7	High Performance Patch	2,000	TON	\$160.00	\$320,000.00		

Bidder also understands that only one (1) bid submission shall be considered. Please DO NOT Submit a manual bid response. Submitting a manual response in addition to the electronic response is cause for rejection of your bid.

Confirmed

PRICE TABLES ASPHALT MATERIALS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:
1	Hot Mix Asphalt 19M64 Base Course	3,000	TON	\$71.00	\$213,000.00		
2	Hot Mix Asphalt 9.5M64 Surface Course	45,000	TON	\$74.00	\$3,330,000.00		· · · · ·
3	Hot Mix Asphalt 4.75M64 Surface Course	500	TON	\$112.75	\$56,375.00		
4	Hot Mix Asphalt 12.5M64 Surface Course	20,000	TON	\$73.00	\$1,460,000.00		
5	Open Graded Friction Course	4,000	TON	\$112.75	\$451,000.00		
6	Asphalt Price Adjustment (this item will be awarded to all vendors awarded Item #'s 1, 2, 3, 4 and/or 5)	1	LS	\$300,000.00	\$300,000.00		
7	High Performance Patch	2,000	TON	\$155.00	\$310,000.00		